Subskill # 1
Estimation/Rounding I


Round to the nearest 10.
1.
542
A. 540



B. 552



C. 550



D. 500

2.
385
A. 380



B. 300



C. 390



D. 395

Round to the nearest 100.

3.
649
A. 700



B. 600



C. 750



D. 650

4.
1,892
A. 1800



B. 2000



C. 1900



D. 1990

Round to the nearest 1000.
5. 6,215
A. 7215



B. 6215



C. 7000



D. 6000

6.
21,964
A. 21,000



B. 20,000



C. 30,000



D. 22,000


Round to the nearest whole number.

7.
8.232
A. 9



B. 8



C. 9.2



D. 8.2

8.
2.935
A. 3



B. 2.9



C. 3.9



D. 2

Round to the nearest tenth.
9. 49.07
A. 49.0



B. 49.1



C. 50.1



D. 50.0

10. 310.099
A. 310.0



B. 310.19



C. 311.1



D. 310.1

Round to the nearest hundredth.
11.
7.936
A. 8.9



B. 7.9



C. 7.94



D. 7.93

12.
12.642
A. 12.65



B. 12.6



C. 12.7



D. 12.64

Round to the nearest cent.
13.
$14.568
A. $14.60



B. $14.57



C. $14.58



D. $14.67

14. $8.4926
A. $8.50



B. $8.59



C. $8.51



D. $8.49

If you were estimating by rounding to the nearest whole number, what numbers would you use to solve the following problems?

15.
6.89 x 12.15
A. 6, 12



B. 7, 12



C. 7,13



D. 6,13

16. A delivery service employs 20 drivers. Each day they drive a total of 79.6 miles. On the average, how many miles does each employee drive a day?



A. 20 ÷ 80



B. 79 ÷ 20



C. 80 ÷ 79



D. 80 ÷ 20

17.
May spent $38.15 on shoes and $148.79 for a new suit. By rounding to the nearest dollar, how much did she spend?



A. $186.00



B. $187.00



C. $185.00



D. $189.00

18.
George is driving from Tallahassee to Jacksonville (145 miles) and from there to Daytona Beach (116 miles), returning using the same route. Estimate the whole trip by rounding to the nearest ten.



A. 400



B. 520



C. 540



D. 270

19.
George’s car gets 28 miles to the gallon. Rounding the trip and the gas mileage to the nearest ten, about how much gas will he use on this trip?



A. 18 gals.



B. 9 gals



C. 17 gals.



D. 13 gals.

20.
A warehouse can hold 83 pallets and each pallet holds 24 cartons. Rounding the answer to the nearest 10, about how many cartons are stored in the warehouse?



A. 1,990



B. 2,200



C. 2,000



D. 1,800

Answer Key 

1. A

2. C

3. B

4. C

5. D

6. D

7. B

8. A

9. B

10. D

11. C

12. D

13. B

14. D

15. B

16. D

17. B

18. B

19. C

20. A
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